	Area (ha)	7.92 ha	2 times	15.84 ha 2500 nos	Si	ldharampur RF	15.84	All Wiles or installed	
	No. of sapling per hactre Length of Fencing (RM) Wages rate		2122 mtrs	Total area of RF		15.84	The state of the state of the		
			₹ 320.00			13.04	- All Hard	ATP (4)	
sl.	Postinular of the last		4 11				Applicable rate	e of GST / Cess	71-12
io.	Particulars of works	Units	Qty/Ha	Total Qty	Rate/unit	Amount (Rs)	GSI	Labour Cess	Total
A. [ERECTION OF FENCING								
-	a). Cost of full chain link fencing (4' ht with 10 guage 3" dia link) with 3 strand barbed wire (one stand below the chain link and						and the same	meand of the	
-	two strand above the chain link) to be filled on pre-cast RCC pillars						viid i	e esta esta esta esta esta esta esta est	abortonos I
	of specific specification and size (2.1m x 0.125m x0.125m) as per details specification attached at	RMs	Saint, Fr	2122 mtrs	₹ 1,706.00	₹ 36,20,132.00		10 20 1A	on is to gothers ne syst est
	2.5 m apart, including transportation, fitting and fixing	To A	A. 18,1	183111111111111111111111111111111111111	and the same	AK		alijan i risedeni	antina Sil
	for 2500 RM Rs 1706/RM as per estimate (detaled estimate enclosed).		Bardul, F.	40		4	oran åsi Oran åsi Orandin	egono lena co polici independina educio di como di	reservation of States
1	Sub Total	-		The second	1 1 11 11 11 11	* 36,20,132.00			₹ 36,20,132.0
В.	+		17 19 11				14	A compression	Contradit,
	Construction of camp hut with installation of ring well / tube well	Nos	11.4.9	1	₹ 2,25,000.00	₹ 2,25,000.00	de Light of the state of	e in Modulate Pen Constant Constant	et austri na z halo na skolek
1	Cost of tools & inplements	Set		1	₹ 10,000.00	₹ 10,000.00	itivs .	o Lingua pastiki seksi	37-34 ·
	Cost of RCC signboard & gate including fitting and fixing of the same	Nos	Andrew Comment	1	₹ 40,000.00	₹ 40,000.00	· ser		galamu (
	Camp accessories @ Rs 10000/- per camp	Nos	- No. 10	1	₹ 10,000.00	₹ 10,000.00		en grad spager, es	# 2 22 050 O
	Sub Tota				1	₹ 2,85,000.00	12%	1%	₹ 3,22,050.0
C.	Raising of Nursery for creation including vacany filling for 3		Howard A.	24 - 25 2	1.0		(W)	South the second	e viere
	(three) years (25% + 15% + 10%) and site nursery mortality 15% by using polypots	Nos	4125	65340	₹ 10.00	₹ 6,53,400.00	ing and towns o	r seed kerkstere His to service	on teration of
	Site selection surveying, demarcation, jungle cutting,	DLs	40 nos	633.6	₹ 320.00	₹ 2,02,752.00	and the same of th	790	Secretary
	burning etc. DLs/ha Sub Tota	1				₹ 8,56,152.00		Constant Salah	₹ 8,56,152.0
D	CREATION	1.00	a part of				- 10-10-10-10-10-10-10-10-10-10-10-10-10-1		
	Soil working, carriage of stamps, polypot seedling and planting of the plantation site including, dibbling of seeds whenever necessary to complete raising of plantation with all necessary opertion @ 50 DLs/ha	DLs	50	792	₹ 320.00	₹ 2,53,440.00	The second		100 (100 (100 (100 (100 (100 (100 (100
					The state of the s	₹ 2,53,440.00		1 0 1 4 1 1 1 dal-	₹ 2,53,440.0
1	Sub Tota	/	1	30 Mars		12,00,440.00	Section 1991	The state of the s	A STATE OF THE STA

Divisional Forest Officer Karbi Anglong East Division Assistant Corporator of Forests
Vc Western Bange, Dokmoka
K.A. East Mission, Diphu

SL.	Particulars of works	Units	Qty/Ha	Total Qty	Rate/unit	Amount (Rs)	Applicable rat	Total	
U.			1 1962		Section 1	1.50	GST	Labour Cess	
	1st YEAR MAINTAINANCE								
	4 Weeding, mulching and fire protection works @ 25 DLs/ha/weeding	DLs	100	1584	₹320.00	₹ 5,06,880.00	5 18 1	1 1 1 P	
	Maintainance and protection by way of deploying of watch & ward for site nursery & plantation area (2 DL for 365 days)	DLS	2	730	₹ 320.00	₹ 2,33,600.00			
	Contingency	LS	1			₹ 10,000.00		they to see to	1 134
	Sub Total	-				₹ 7,50,480.00	4.17	(N. 141-123-H)	₹ 7,50,480.0
F.	2nd YEAR MAINTAINANCE		4		11.8 23 1 5		-1 -41 H (1)	114 1144	THE PROPERTY OF
	4 Weeding, mulching and fire protection works @ 25 DLs/ha/weeding	DLs	100	1584	₹320.00	₹ 5,06,880.00		Makes	
	25% vacancy filling by 1 year old seedlings from nursery @ 28 DLs/ha	DLs	28	443.52	₹ 320.00	₹ 1,41,926.40	1 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3		
	Maintenance and protection by way of deploying of watch & ward for site nursery & plantation area (2 DL for 365 days)	DLs	2	730	₹ 320.00	₹2,33,600.00			
	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation, upkeepment of records and other misc works	LS	na d	iso dod as se		₹ 10,000.00			12 4 12 4 12 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	Contingency	LS	-			₹ 10,000.00	7. 7. 4	1	
	Sub Total		- Special Party	Vert date /		₹ 9,02,406.40	11/11/11	NO WALL	₹ 9,02,406.4
G.	3rd YEAR MAINTAINANCE 4 Weeding, mulching and fire protection works @ 20 DLs/ha/weeding	DLs	80	1267.2	₹ 320.00	₹4,05,504.00	New Table		- 6
	15% Vacancy filling by 3 years old seeding from nursery @ 23 DLs/ha	DLs	23	364.32	₹ 320.00	₹ 1,16,582.40	. an 4		
	Maintenance and protection by way of deploying of watch & ward for site nursery & plantation area	DLs	2	730	₹ 320.00	₹ 2,33,600.00	04 (40) s		
	(2 DL for 365 days)		+ SALTE	And I	in the second	LOW ST		Alon Olemani	
	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation, upkeepment of records and other misc works	LS				₹5,000.00			
	Contingency	LS	1			₹ 10,000.00		less many tal.	
	Sub Total	971	the state of the first	ar dealt	WK Treas	₹ 7,70,686.40		the standings of a second	₹ 7,70,686.4
H.	4th YEAR MAINTAINANCE 3 Weeding, mulching and fire protection works @ 15	DLs	45	712.8	₹ 320.00	₹ 2,28,096.00			14 + 16 I
	DLs/ha/weeding 10% Vacancy filling by 3 years old seeding from nursery @ 20 DLs/ha	DLs	20	316.8	₹ 320.00	₹1,01,376.00	2.4.4.5	a local direction	The state of the s
	Maintenance and protection by way of deploying of watch & ward for site nursery & plantation area (1 DL for 365 days)	DLs	1	365	₹ 320,00	No.16,800.00	To citio	Gr	

SN	Darticulars of works	Units	Qty/Ha	Total Qty	y Rate/unit	Amount (Rs)	Applicable rate of GST / Cess etc.		Total
1							GST	Labour Cess	
	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation, upkeepment of records and other misc works	LS	:34:97 oil-	constant sport were sport inhabition or	1,000	₹ 5,000.00		A Maria Maria A Large Maria Maria Maria Maria Maria Maria	
1	Contingency	LS	a market of the same	THE REPORT OF THE PARTY OF THE	on the contract of the second	₹ 10,000.00	engapi de meneran penera i dibantar en el en el escele e fil del anti-		
	Sub Total Sth YEAR MAINTAINANCE	héanna annakana	adiciones indicates in the	enter de la descripción de la	average strong copyrigations on	₹ 4,61,272.00	our yearning capt in the expression of controlling	And the second second second second	₹ 4,61,272.00
1"	Climber cutting, 3 weldings &	or the control of the second of the second of	era pel manero carratega de al actual a	rain and producers or management	y kaminan panton aprello monto este de est	and the second of the second second second	and transmission despression in process		
2	other silvicultural works and fire protection works @15 DLs/ ha/ weeding	DLs	45	712.8	₹ 320.00	₹ 2,28,096.00	and the state of t	WAR CUSTON	
	Maintenance and protection by way of deploying of watch and		asampet 1			W		Arthur countings the groups and Apple	
1	ward for site nursery & plantation	DLs a	1	365	₹ 320.00	₹ 1,16,800.00		1	
1	area (1 DL for 365 days)		14.7		776			The same	Assider .
	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation, upkeepment of records and other misc works	LS	10.37 0.816 F			₹ 5,000.00	ale. Usi	Constrain in inc	
	Contingency	LS	***************************************	a de la compansa de compansa d		₹ 10,000.00	\$16×11		
J.	Sub Total 6th YEAR MAINTAINANCE	Aprilla de la confidencia del confidencia de la confidencia de la confidencia de la confidencia del confidencia de la co		to an analysis of the second second second second	and the second of the second o	₹ 3,59,896.00	and the second second second second	A day of the	₹ 3,59,896.00
,.	Repairing of Chain link fencing	LS		arrativa s quidas quadras s dereta qui de comun arrativ	the second section of the section of the second section of the section of the second section of the sectio	₹ 25,000.00	agent der verste generaligieren som han som er utgendermen geneg	Swall of the	-mist
	1st mechanical thinning of alternate single strips in the plantation; 1250 nos of stems/ha	DLs	62	982.08	₹ 320.00	₹ 3,14,265.60		And the second of the second o	
	Climber, Silvicultural works and fire protection works @ 10 DLs/ha	DLs	10	158.4	₹ 320.00	₹ 50,688.00			
	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation, upkeepment of records and other misc works	LS	White goals			₹5,000.00			
1	Contingency	LS	eraken verd ir kleid Lameny Aberlau id Arabia obrabi olaside kleighte für manniske de das propried gest			₹ 5,000.00			
	Sub Total	-		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		₹ 3,99,953.60	And the state of t		₹ 3,99,953.6
	7th YEAR MAINTAINANCE Climber, Silvicultural works and ire protection works @ 10 DLs/ha	DLs	10	158.4	₹ 320.00	₹ 50,688.00	in the state of	120	
i F	maintainance of camp flut, mpliments, upkeepment of clantation signboard, locumentation, upkeepment of ecords and other misc works	LS			d d	₹5,000.00			
C	ontingency	LS	Market de l'annual		The same of the sa	₹5,000.00	The state of the s	-	10040
	Sub Total	1160	-	Winson.	Ry III	₹ 60,688.00			₹ 60,688.0



Assistant Conscivacio: al Rorests Ile Western Range, Dokmoka K.A. East Division, Diphy

51.	Particulars of works	Particulars of works	Particulars of works	Maria .	04./11-	Total Obs	Data/unit	Amount (Da)	Applicable rate	e of GST / Cess	Tabel
No.	randculars of works	Units	Qty/Ha	Total Qty	Rate/unit	Amount (Rs)	GST	Labour Cess	Total		
L.	8th YEAR MAINTAINANCE					And the second s	Sept.				
	Climber, Silvicultural works and fire protection works @ 10 DLs/ha	DLs	10	158.4	₹ 320.00	₹ 50,688.00		V.23			
	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation, upkeepment of records and other misc works	LS				₹5,000.00	Pro-		100 100 100 100 100 100 100 100 100 100		
	Contingency	LS				₹ 5,000.00					
	Sub Total			10 5 4	1, 1, 1,	₹ 60,688.00	20		₹ 60,688.00		
L.	9th YEAR MAINTAINANCE						Market State of the State of th	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1		
	Climber, Silvicultural works and fire protection works @ 10 DLs/ha	DLs	10	158.4	₹ 320.00	₹ 50,688.00	van	مني ها			
	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation, upkeepment of records and other misc works	LS		799		₹5,000.00			Company		
1	Contingency	LS	(1/45)4-F	19 19 19		₹ 5,000.00		herekore -	118-17-27		
1	Sub Total		3 horas			₹ 60,688.00	In Iral	marrie of K	₹ 60,688.00		
iL	10th YEAR MAINTAINANCE		The Artist	4'			3-10	4 40% 1467 148	1111		
	Climber, Silvicultural works and fire protection works @ 10 DLs/ha	DLs	10	158.4	₹ 320.00	₹ 50,688.00	Agrical Agrica	Walter Francisco	ayestiik Saakessii a		
	Maintainance of camp hut, impliments, upkeepment of								ar Cast of		
	plantation signboard, documentation, upkeepment of records and other misc works	LS	1000	abarat e a	8,0	₹5,000.00					
1		LS	+ + + + + + +	7 79	Take the	₹ 5,000.00		maji-i-	3 . 3		
1	Contingency Sub Total	<u> </u>	s vis	T	1.32	₹ 60,688.00		PERSON A	₹ 60,688.00		
-	Grand Total	43.6	I P. VIACO						₹ 89,39,220.40		

Divisional Folest Officer Karbi Anglong East Division Assistant Conservator of Forests
Ilc Western Range, Dokmoka
K.A. East Division, Dlphu

1.888,00

1

Chamica passing with

AGE COST SERVICES

Area (ha) 6.64 ha 2 times							1.38 ha		or the self of Constitution for the Assessment
	The second secon	of sapling p	CONTRACTOR CONTRACTOR CONTRACTOR	2500 nos		Longnit DCRF	11.90 ha	From X and At the Course and At the Course	y timber and event down is a country or country of several terms.
Length of Fencing (RM)				1487 mtrs	Tota	l area of DCRF	13.28 ha		The same and the same and the same
Wages rate				₹ 320.00					
SI. No.	Particulars of works	Units	Qty/Ha	Total Qty	Rate/unit	Amount (Rs)	12% GST	1% Labourcess	Total
A.	ERECTION OF FENCING		and the same of th	n yn i'r yndi ganlyf Alfredi o'r i	A A A STATE OF THE	y also a construction of the construction of t	etan misinta mengenangan menakan	POST POST PROPERTY AND A STATE OF THE STATE	and the state of t
	a). Cost of full chain link fencing (4' ht with 10 guage 3" dia link) with 3 strand barbed wire (one stand below the chain link and two strand above the chain link) to be filled on pre-cast RCC pillars of specific specification and size (2.1m x 0.125m x0.125m) as per details specification attached at 2.5 m apart, including transportation, fitting and fixing for 2500 RM Rs 1706/RM as per estimate (detaled estimate enclosed).	RMs		1487 mtrs	₹1,706.00	₹ 25,36,822.00			
	Sub Total	- A Thomas A Company		Commencial Systems of Accessored Accessored Accessored Accessored Accessored Accessored Accessored Accessored		₹ 25,36,822.00	and so that the state of the second state of the second state of the second sec		₹ 25,36,822.00
В.	INFRASTRUCTURE IN PLANTATIO	N AREA		Name to the state of the state					AC ACTION AND A TO A SECURE THE PARTY OF THE SECURE
	Construction of camp hut with installation of ring well / tube well	Nos		1	₹ 2,25,000.00	₹ 2,25,000.00	/		magangang manyanca an apada a mendalambah andisah
	Cost of tools & inplements	Set		1	₹10,000.00	₹ 10,000.00			y many things the control of the day of the
	Cost of RCC signboard & gate including fitting and fixing of the same	Nos		1	₹ 40,000.00	₹ 40,000.00			akakan etailara dakenye konseptuaran adap pungunyi (Vijalligilika dipunja
	Camp accessories @ Rs 10000/- per camp	Nos		1	₹ 10,000.00	₹ 10,000.00			
	Sub Total					₹ 2,85,000.00	₹ 34,200.00	₹ 2,850.00	₹ 3,22,050.00
C.	ADVANCE WORK								
	Raising of Nursery for creation including vacany filling for 3 (three) years (25% + 15% + 10%) and site nursery mortality 15% by using polypots	Nos	4125	54780	₹10.00	₹ 5,47,800.00			1
	Site selection surveying, demarcation, jungle cutting, burning etc. DLs/ha	DLs	40 nos	531.2	₹320.00	₹1,69,984.00			
	Sub Total					₹ 7,17,784.00			₹ 7,17,784.00
D.	CREATION							7	. ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	Soil working, carriage of stamps, polypot seedling and planting of the plantation site including, dibbling of seeds whenever necessary to complete raising of plantation with all necessary opertion @ 50 DLs/ha	DLs	50	664	₹320.00	₹ 2,12,480.00			
	Sub Total					F 2 12 400 00			
	345 10141					₹ 2,12,480.00	1.50	1 1 1	₹ 2,12,480.0

Divisional Forest Officer Karbi Anglong East Division Diphu Beat Officer
Longnit Acct KAID, KAAC
Central Range, KAID, KAAC

SI. No.	Particulars of works	Units	Qty/Ha	Total Qty	Rate/unit	Amount (Rs)	12% GST	1% Labourcess	Total
E.	1st YEAR MAINTAINANCE								
	4 Weeding, mulching and fire protection works @ 25 DLs/ha/weeding	DLs	100	1328	₹ 320.00	₹ 4,24,960.00			***************************************
	Maintainance and protection by way of deploying of watch & ward for site nursery & plantation area (2 DL for 365 days)	DLS	2	730	₹320.00	₹ 2,33,600.00			
	Contingency	LS		1 9		₹ 10,000.00			
	Sub Total					₹ 6,68,560.00			₹ 6,68,560.00
F.	2nd YEAR MAINTAINANCE		,				11		
	4 Weeding, mulching and fire protection works @ 25 DLs/ha/weeding	DLs	100	1328	₹ 320.00	₹ 4,24,960.00			
	25% vacancy filling by 1 year old seedlings from nursery @ 28 DLs/ha	DLs	28	371.84	₹ 320.00	₹ 1,18,988.80			
	Maintenance and protection by way of deploying of watch & ward for site nursery & plantation area (2 DL for 365 days)	DLs	2	730	₹ 320.00	₹ 2,33,600.00			
	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation, upkeepment of records and other misc works	LS				₹10,000.00			#** 60
	Contingency	LS				₹ 10,000.00			775.
	Sub Total					₹ 7,97,548.80		-	₹ 7,97,548.80
G.	3rd YEAR MAINTAINANCE							-	
	4 Weeding, mulching and fire protection works @ 20 DLs/ha/weeding	DLs	80	1062.4	₹ 320.00	₹ 3,39,968.00			
-	15% Vacancy filling by 3 years old seeding from nursery @ 23 DLs/ha	DLs	23	305.44	₹ 320.00	₹ 97,740.80			
	Maintenance and protection by way of deploying of watch & ward for site nursery & plantation area (2 DL for 365 days)	DLs	2	730	₹ 320.00	₹ 2,33,600.00			
	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation, upkeepment of records and other misc works	LS			d 1,24	₹5,000.00			
	Contingency	LS	1			₹ 10,000.00			
	Sub Total					₹ 6,86,308.80			₹ 6,86,308.80
Н.	4th YEAR MAINTAINANCE						1 1 1 1		. 5,00,300.80
	3 Weeding, mulching and fire protection works @ 15 DLs/ha/weeding	DLs	45	597.6	₹ 320.00	₹1,91,232.00			
	10% Vacancy filling by 3 years old seeding from nursery @ 20 DLs/ha	DLs	20	265.6	₹ 320.00	₹ 84,992.00	100		A.
	Maintenance and protection by way of deploying of watch & ward for site nursery & plantation area (1 DL for 365 days)	DLs	1	365	₹ 320.00	₹1,16,800.00			

SI. No.	Particulars of works	Units	Qty/Ha	Total Qty	Rate/unit	Amount (Rs)	12% GST	1% Labourcess	Total
	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation, upkeepment of records and other misc works	LS				₹5,000.00			
	Contingency	LS				₹10,000.00			
	Sub Total				1	₹ 4,08,024.00			₹4,08,024.00
-									
I.	5th YEAR MAINTAINANCE								
	Climber cutting, 3 weldings & other silvicultural works and fire protection works @15 DLs/ ha/ weeding	DLs	45	597.6	₹ 320.00	₹ 1,91,232.00			
	Maintenance and protection by way of deploying of watch and ward for site nursery & plantation area (1 DL for 365 days)	DLs	1	365	₹ 320.00	₹1,16,800.00			,
	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation, upkeepment of records and other misc works	LS				₹5,000.00			
	Contingency	LS	-			₹ 10,000.00			
	Sub Total		<u> </u>			₹ 3,23,032.00			₹ 3,23,032.00
J.	6th YEAR MAINTAINANCE	,,							
J.		10			r	₹ 25,000.00			
	Repairing of Chain link fencing	LS				1 23,000.00		+	
	1st mechanical thinning of alternate single strips in the plantation; 1250 nos of stems/ha	DLs	62	823.36	₹320.00	₹ 2,63,475.20			
	Climber, Silvicultural works and fire protection works @ 10 DLs/ha	DLs	10	132.8	₹320.00	₹ 42,496.00			
	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation, upkeepment of records and other misc works	LS				₹ 5,000.00			
	Contingency	LS	4		1 11	₹5,000.00		7	
	Sub Total					₹ 3,40,971.20			₹3,40,971.20
K.	7th YEAR MAINTAINANCE		-	***************************************					
	Climber, Silvicultural works and fire protection works @ 10 DLs/ha	DLs	10	132.8	₹ 320.00	₹ 42,496.00	. I		
	Maintainance of camp hut, impliments, upkeepment of plantation signboard, documentation, upkeepment of records and other misc works	LS		1	100 m	₹5,000.00			
	Contingency	LS				₹5,000.00			
	Sub Total					₹ 52,496.00			₹ 52,496.0



₹ 320.00

₹320.00

₹320.00

Divisional Agrest Officer Karbi Anglong East Division Diphu

Rate/unit

Amount (Rs)

₹ 42,496.00

₹5,000.00

₹5,000.00

₹ 52,496.00

₹ 42,496.00

₹5,000.00

₹5,000.00

₹ 52,496.00

₹ 42,496.00

₹5,000.00

₹5,000.00

₹ 52,496.00

(Rupees Seventy Two lakhs, Twenty Three Thousands, Five Hundreds Sixty Four and Eighty Paise only)

Total

₹ 52,496.00

₹ 52,496.00

₹ 52,496.00

₹ 72,23,564.80

Longhit Account Boat Langel Range, KAE, KAAC

1% Labourcess

12% GST

SI.

No. L.

DLs/ha

Particulars of works

8th YEAR MAINTAINANCE Climber, Silvicultural works and

fire protection works @ 10

Maintainance of camp hut, impliments, upkeepment of

plantation signboard, documentation, upkeepment of records and other misc works

L. 9th YEAR MAINTAINANCE Climber, Silvicultural works and

fire protection works @ 10

Maintainance of camp hut, impliments, upkeepment of

plantation signboard, documentation, upkeepment of records and other misc works

L. 10th YEAR MAINTAINANCE Climber, Silvicultural works and

fire protection works @ 10

Maintainance of camp hut, impliments, upkeepment of

documentation, upkeepment of records and other misc works

plantation signboard,

Contingency

DLs/ha

Contingency

Contingency

DLs/ha

Units

LS

LS

DLs

LS

LS

DLs

LS

LS

Sub Total

Sub Total

Sub Total

Grand Total

Qty/Ha

10

10

10

Total Qty

132.8

132.8

132.8

	٠